'1. Read the text and complete the sentences.

a. Venice is a city

b. Tourismis usually a

c. More than 60,000 tourists

d. The cruise ship tourists aren’t good for Venice because

m

. Locals are leaving Venice because

2. Read the text again and answer the questions.

a. Why is Venice struggling with the amount of toUFISTS T ...t m e s s m e e e eaas

or

. Why are local residents Moving UL OF VERICET ...ttt e e et et e e e e mnan
c. How are cruise ship tourists different to 0ther toURSTST ... e man e s

d. How are the tourists negatively affecting the environment in Venice? e

e



